0ff &F Al 3 N A
=
(el &)
5 - 4
SI(3) - MISAS - B2 Ol At o %@ﬁ HRE2
54,283,734 48,130, 161 6,153,573
= 31,678,520
g 1,388,982
= 5,375,594
Al 15,840,638
1,367,639 1,162,274 205,365
o= 184,200
Al 1,183,439
1,367,639 1,162,274 205,365
o= 184,200
Al 1,183,439
BEad A =& Y G 22l 35,386 35,426 AN 40
101 e1214| 3,600 3,600 0
04 JIZtHIZ22XNSES 3,600 3,600 0
OZ2EIX S#AFY AR (MY 2 HE
HAH ssaE £) 3,600
oJlea 100,000& »6H »6 3,600
Qe AH| 14,020 14,020 0
A2 22| Hl 7,020 7,020 0
OB =2H| 7,020
o BEE Y EEAE 22 29 3,340,000 3,340
0 2Y2X ,BEY HA S 8442
3,680,000 3,680
A2 S H| 7,000 7,000 0
OEEY FEAHA 7,000,000& 7,000
o1 bl 766 806 AN40
= LH 04 dl 766 806 AN 40
OBz g% 765,700& 766
24l 2,000 2,000 0
T2 8] 2,000 2,000 0
OZ23I X & 500,000& x43| 2,000
QutE N = 15,000 15,000 0
SHAIAIH|I X &/ 2 10,000 10,000 0
OESUA & SETEA 8,000,000& 8,000
OSER3N S /=24 2,000,000& 2,000
JIEtE &= 5,000 5,000 0
OSYRIN ¥ RS A23
5,000,000& 5,000
141,053 139,706 1,347
141,053 139,706 1,347
114,833 110,906 3,927
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S FOISXD
Y 20t2E el 2 KW
o9 SEIUSY YA X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o ESAIEEH ¥ RNES 6,000,000& 6,000
saABESY NJ(EX) 1,165,200 957,440 207,760
< 184,200
Al 981,000
301 LB A 1,165,200 957,440 207,760
< 184,200
Al 981,000
01 MEIBZE 263 1,165,200 957,440 207,760
Os=28=2 =% 1,165,200, 000& 1,165,200
= 184,200
Al 981,000
NSAsIEX Jigtxcd 2 N& 4,676,185 4,310,395 365,790
= 616,084
s 1,388,982
< 271,911
Al 2,399,208
2o 25 ¢ A 6,000 6,000 0
SN S AY 6,000 6,000 0
301 LA F 6,000 6,000 0
01 MEIBEE 253 6,000 6,000 0
OASTELY U N0 SARE
1,000, 000& 1,000
OB HAAZ T JOHA OtX = 40,000 5% x5 1,000
O Al 20,000& 50 1,000
OdA X S=+=Hl Xas 1,000,000 1,000
OAT FHMAe 2,000,000& 2,000
NE=XAME XA 4,670,185 4,304,395 365,790
2 616,084
as 1,388,982
< 271,911
Al 2,393,208
A3 EX 2t AFS X3 310,689 363,274 N 52,585
201 24| 23,600 23,600 0
01 At 2t 2l 23,600 23,600 0
OBt~ 4,600
o Atg|EX &2 2L 4,600,000 4,600
0=t 19,000
o S8z AMIIEXNEEESFE =4 N
19,000, 000& 19,000
202 044l 4,275 4,500 A 225
01 = LH o4 1l 4,275 4,500 A 225
OAMEI =X 2= 1,710,000 1,710




A FOI=T D
I NAAHST YRS 2 X

el NE=sXAME X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OXNSASEFHE =8 & EIt =&
2,565,000 2,565
307 glz2tol & 282,814 304,874
03 BIZHNHE2IHIEL 41,314 41,314
OMEI=EXES 29 41,314,000& 41,314
04 QIZFHALAIH B = 12,000 3,000
OHd 3.1 SEHEN2S JISSA
4,000,000& 4,000
O6.25&8 3 D1 &g &l At 8,000,000& 8,000
11T ASI S RAEE = 229,500 260,560
ONAS FOAIE EIIANE B8 & 2=
13,000, 000& 13,000
OMEI SR =2t ALl 30HAL 34,000,000& 34,000
OR=SAAMH 120,000, 000& 120,000
OH9sl LMAIALSI =2 X ALA EI T3
4,500,000 4,500
OZHAIALZI SEXAL B+ SH A&
9,000,000& 9,000
OZHAl At SXESAMLE SR
45,000, 0002 45,000
Osi=Tg s SFSANEEs2e & S3EH|
4,000,000& 4,000
UYEHELARSHESY(2X) 80,832 80,832
= 16,166
Al 64,666
307 21201 A 80,832 80,832
< 16,166
Al 64,666
03 QIZtHNHE2HHEX 80,832 80,832
OXESEEENRELH 29 80,832,000& 80,832
< 16,166
Al 64,666
FoMETI2AH A 2 XIS 35,652 33,952
201 LB-2E| 17,958 17,958
01 At 2t 2l 17,958 17,958
OBt~ 12,438
o FE=X FRFAH 2,760,000 2,760
o SHIAXLX L2tX B21=
1,380,000& 2H 2,760
oANRES ¥ HMABE 2 5,315,000 5,315
o FRUMEXNZAAMEIA E22 MH
1,603,000& 1,603
O=El 5,520
o FLU=EX FRFZ 5,520,000& 5,520




2N
D NGAEIEX Jletxy 2 XE

el

X ZH
S =

=e =X

NA=XAMY K&

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
202 o4 | 5,694 5,994 A 300
01 2L I 5,694 5,994 A 300
OF0=EX g2F4 5,693,300& 5,694
206 M = dl 12,000 10,000 2,000
01 X2 4| 12,000 10,000 2,000
OAHEHY 2E AHES 12,000,000& 12,000
ANSIE2XAIE KR 10,000 10,000 0
301 et M= 10,000 10,000 0
01 M EXE 452 10,000 10,000 0
OMIIETAYE 22 (=4 484 HH)
500,000 204 A 10,000
ASISXAE SALA 1 FH 3,920 3,920 0
201 et Y| 920 920 0
01 AP 2t 2] d| 920 920 0
O2bBt=2H| 920
0 AISIEXAIE SAA U= 920,000& 920
301 et A= 3,000 3,000 0
09 HAIAHI XIS 2 3,000 3,000 0
OMISXAIE SAXN S 3,000,000& 3,000
MNIEXNEX S AFE2LE 22 124,960 124,960 0
301 et M =2 124,960 124,960 0
0B AISIE22IIZ A= 124,960 124,960 0
O= Al 6,000 20 «84H «12& 120,960
OAHEEIY 4,000,000& 4,000
AMEEXNEX S AIERRIA ZHE2(EX) 584,404 393,000 191,404
= 584,404
301 YEtE A =2 584,404 393,000 191,404
= 584,404
0B AISIEL2IAL A= 584,404 393,000 191,404
02 504,799,000& 504,799
= 504,799
O EH| 65,011,000 65,011
= 65,011
Ol =4 14,594 ,000& 14,594
= 14,594
NGt dTe| A (EX) 75,680 90,000 A 14,320
= 31,680
= 13,200
Al 30,800
307 QI2t0| ™ 75,680 90,000 A 14,320
= 31,680




2N
D NGAEIEX Jletxy 2 XE

el

X ZH
S =

=e =X

NA=XAMY K&

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 73,200
Al 30,800
11 A SAAEE X 75,680 90,000 AN 14,320
OFELXCAMYXR o1AHH Y EE=
75,680,000& 75,680
= 31,680
= 13,200
Al 30,800
Ol M8 RSHl XKF(EX) 33,500 30,000 3,500
== 33,500
201 et A | 11,000 10,000 1,000
= 11,000
01 AtR 22l ] 10,000 9,000 1,000
OBt +=2H| 10,000
o OIXHEl & 10,000,000& 10,000
== 10,000
02 3524t 1,000 1,000 0
OO0lME RS S| ENRS S
1,000, 000& 1,000
== 1,000
302 Ol =L MoHE &2 19,000 19,000 0
= 19,000
02 A2t THOHE SR ESEAM = 19,000 19,000 0
ONHEA 3, &MY S 15,000,000& 15,000
& 15,000
0220 BS4Y U SEARY SEH
4,000,000 4,000
o= 4,000
307 212+0| & 3,500 0 3,500
& 3,500
02 DI2ZtF AALH E X 3,500 0 3,500
Ol W=H S 3,500,000& 3,500
= 3,500
NN EHEAM 29 101,437 82,437 19,000
201 Bt A H| 38,580 39,580 A 1,000
01 AtR 22l bl 38,580 39,580 A 1,000
ONANBEREAN LAYV HASg
3,780,000& 3,780
OSHS XNGAIBEHEAN SoEFALG
34,800,000& 34,800
307 212t0| & 62,857 42,857 20,000
03 AAHNNEE2IHIES 42,857 42,857 0
OXNSMIEBEEHEAM 2SI 42,857 ,000& 42,857
11 A SAAEE X 20,000 0 20,000




S FZ=Exn
Hu: NAASER JBES L X

0

@2 XNEEXAE X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXGASIEZEAM XF At HI
20,000,000& 20,000
KN SASI MBI A S AALS 3,163 3,271 A 108
201 £B-2dH| 1,111 1,111 0
01 At 22l 1,111 1,111 0
oO2et=ZH| 611
o ANIAMSIMEIA HEFX 611,000& 611
O=Zl 500,000& 500
202 O4dl 2,052 2,160 A 108
01 = LH o4 1l 2,052 2,160 A 108
OXGAS HEI A HRFA 2,052,000 2,052
NAXEE MIAMEIA EXAIS (ME)(2X) 1,736,228 1,585,437 150,791
s 1,388,982
< 173,623
Al 173,623
201 Let2d] 2,229 2,229 0
ras 1,783
< 222
Al 224
01 At 22l 2,229 2,229 0
OB =+=EH| 2,229
o NGASIMHIA FEXALE =&
2,229,000 2,229
s 1,783
= 222
Al 224
307 gl2tol & 1,733,999 1,583,208 150,791
s 1,387,199
< 173,401
Al 173,399
05 RIZHRI & 3 1,733,999 1,583,208 150,791
OX G AS HMHI A EXHALS 1,303,837,000& 1,303,837
s 1,043,069
< 130,385
Al 130,383
OJtAZtE &2 & 20| 430,162,000 430,162
s 344,130
< 43,016
Al 43,016
M2 =2X2 23 1,425,415 1,377,312 48,103
307 gl2tol & 1,425,415 1,377,312 48,103
05 BIZHRI & 3 453,703 431,451 22,252
OZHAS =2 29 453,703,000 453,703
10 ALSISEXAIEEE2EHEX 959,562 933,711 25,851




2H: FoI=XD
HE: NASI =X Jl8

FA

Ao 1

oS =

e XNEESXAY X (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OASEX 2 2SI (LEESES A= 2)
576,582,000& 576,582
OAMIEXS S (HMLASISX2)
382,980,000& 382,980
11T AISIEXAIEEX 12,150 12,150 0
OUSIXAILINEE(Z2EESEAMI=ERH)
4,050,000& 4,050
OsZ=SAMEX2(ZHAIS =X 2)
4,050,000& 4,050
O 22 WIS (MUTAS =X 2)
4,050,000& 4,050
ASIEXN 2 SAIA EEXEH(EX) 45,000 45,000 0
== 13,500
Al 31,500
307 2Iz2t0| & 45,000 45,000 0
= 13,500
Al 31,500
10 M SXAANEEHESIGHEX 45,000 45,000 0
OAIE EX 2 SAHA S84 45,000,000 45,000
= 13,500
Al 31,500
ASIEX2 X9eX T2 29(8X) 30,000 30,000 0
& 6,000
Al 24,000
307 gizto| & 30,000 30,000 0
& 6,000
Al 24,000
10 MM SAANEEHESIHEX 30,000 30,000 0
QUISSEI(Z2EE) 10,000,000& 10,000
= 2,000
Al 8,000
Ooimlmee (2H) 10,000,000 10,000
= 2,000
Al 8,000
OZ£E2 0|2 StSD| 2HLI(HY)
10,000,000 10,000
= 2,000
Al 8,000
IIZZCWIAA(EBX) 47,400 51,000 A 3,600
& 9,350
Al 38,050
307 2iz2to| A 47,400 51,000 A 3,600
= 9,350
Al 38,050
10 MM SAANEEHESIGHEX 47,400 51,000 A 3,600
QI ZFEWIAAS 47,400,000 47,400
= 9,350




2N

=e =X

M NAAM2A=X Jletx=d & K&
@2 XNEEXAE X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 38,050
ABI X2 JIsBA(BEx) 21,905 0 21,905
< 6,572
Al 15,333
402 2I2H X201 M 21,905 0 21,905
< 6,572
Al 15,333
02 QI E2AISEZ (OIS ) 21,905 0 21,905
OZ A =X 2 JsE2 21,905,000& 21,905
< 6,572
Al 15,333
I zME 23 L HASE MEotd & 29,751,021 25,528,500 4,222,521
= 23,083,891
< 2,817,787
Al 3,849,343
EX SEXA 26,980 23,385 3,595
SEXNS0 MEX SEXZA 22l 26,980 23,385 3,595
201 ¢4 19,285 15,285 4,000
01 At 2t 2l 9,077 9,077 0
OBt =] 2,400
0 SETA HEFA 2,400,000 2,400
O2Z+ 700
oJIZMEREHE AF =Y 70,000 +«10H *12] 700
O=Egt| 5,977
0 SETA HEFA 5,977,000 5,977
02 =24l 10,208 6,208 4,000
O=322<LHA 6,208
0 +BMHNY GHYSYS PRI
3,880,000 3,880
o SEXAZC HREFIE SUHERS
2,328,000& 2,328
OSExZ A2 NERXBH(EE NSIHAM, 2E
Hs) 4,000,000& 4,000
202 o4dl 7,695 8,100 A 405
01 = LH o4 1l 7,695 8,100 A 405
O=EX SEZAM d2F 7,695,000 7,695
00|z dE 2F 25,177,922 22,012,780 3,165, 142
= 19,711,652
< 2,487,843
Al 2,978,427
YN XA 9,190 9,383 A 193
201 et 5,515 5,515 0
01 At 22l 5,515 5,515 0
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2N

el

=
—
o =
o
=

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OAt 22l AX 28X (Ze L Algx2
o2 H|,MEXH , nESHH S) 79,800
79,800,000
= 55,860
Al 23,940
SSHAAI 22l AF el AHHl A& 25,340 25,340 0
101 2121 H] 25,340 25,340 0
03 RIAHA*ZZXHE S 25,340 25,340 0
OSE A 22AF HESOHH X &
10,000,000 10,000
OSE At 22 A IS X & 4,800,000& 4,800
OSE A2 AF HIOIE A K&
4,300,000 4,300
OSE M 22 AF AEZAH K&
6,240,000 6,240
SEStAtAI 22l A @14 Hl XK (EX) 137,760 134,168 3,592
= 65,130
Al 72,630
101 e1214| 137,760 134,168 3,592
= 65,130
Al 72,630
03 2INHAZ2ZXNHE = 137,760 134,168 3,592
OSE A 22l AP 21 24H] XI& 137,760,000 137,760
= 65,130
Al 72,630
MAZSH (EX) 22,977,423 19,966,540 3,010,883
= 18,381,939
& 2,297,742
Al 2,297,742
301 et A= 22,977,423 19,966,540 3,010,883
= 18,381,939
= 2,297,742
Al 2,297,742
01 AR E & A 462 22,977,423 19,966,540 3,010,883
O=20I|x=42 X MH=N 22,977,423,000& 22,977,423
= 18,381,939
=} 2,297,742
Al 2,297,742
MM (EX) 153,262 180,863 N27,601
= 122,610
& 15,326
Al 15,326
301 et M= 153,262 180,863 N 27,601
= 122,610
& 15,326
Al 15,326




AN =S
B 20| ZME I8 U HASS B N
S I =S B (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
01 MI2EZE+06l= 153,262 180,863 A 27,601
O=32J==2 X HMEHMSAH 153,262,000 153,262
= 122,610
< 15,326
Al 15,326
mE=i=1 41,026 58,152 A17,126
308 XXM SOIA 41,026 58,152 AN17,126
08 WFJ 20Ut =x 41,026 58,152 A17,126
ORSSH(AMHIREE) 41,026,000 41,026
HASE AKX HHE X 4,000 4,000 0
301 LEBAF 4,000 4,000 0
01 AR 2Z A 53 4,000 4,000 0
O=)=4a8Zx= & RHIA ZHH
fE2 N 4,000,000& 4,000
HAS HAHS IpALEE= N2 138,000 25,000 113,000
301 LPEHF 138,000 25,000 113,000
01 MEIBEE 263 138,000 25,000 113,000
OMASFE FHAHE FAZEEE N
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4
e
gk

SANBIA =0 XI&
60,774,000&

= M

60,774

60,774

18,232
42,542

60,774

= MW

7,777,632
4,902,013

723,658

., 151,961

8,072,294

N 294,662

7,000

7,000

7,000

7,000

7,000,000

7,000
7,000

7,000

=z N W

5,109,452
3,576,616

—

459,851

,072,985

4,844,880

264,572

301 LEIEN =

= MW

5,109,452
3,576,616

1

459,851

,072,985

4,844,880

264,572

5,109,452,000&

H

5,
5,
3,

109,452
109,452
576,616

4,844,880

264,572
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2N
X ZH -
L= B

el

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2

< 459,851
Al 1,072,985

Zo=gOlx) NS(BX) 605,392 620,780 A 15,388
= 423,774
< 72,647
Al 108,971

301 LEHZ 605,392 620, 780 A 15,388
= 423,774
< 72,647
Al 108,971

01 MI2EZE 06z 605,392 620, 780 A 15,388
OFM==(IIx) 605,392,000 605,392
= 423,774
< 72,647
Al 108,971

Zo+= (A S) ANs(BX) 484,350 464,034 20,316
= 339,045
< 58,122
Al 87,183

301 LA S 484,350 464,034 20,316
= 339,045
< 58,122
Al 87,183

01 MEIBZE 263 484,350 464,034 20,316
OB (XaS S) 484,350,000 484,350
= 339,045
< 58,122
Al 87,183

ZoHel olZzHl XNA(BEX) 313,236 942,866 A 629,630
= 250,589
< 25,059
Al 37,588

308 MXIEHSOIH 313,236 942,866 A 629,630
= 250,589
< 25,059
Al 37,588

1037/ 2S0HUHSB A ALS HI 313,236 942,866 A 629,630
OzZoiele=zdl XI& 313,236,000& 313,236
= 250,589
< 25,059
Al 37,588

BRIFNE(BEX) 10,276 9,884 392
= 8,221
< 822
Al 1,233

301 LBEXZ 10,276 9,884 392
= 8,221

_27_




2N
DM EXIEA

el

X ZH
S =

xD|EX|ﬂ|>

T T/

Tl MEOT X &

= O =

SA - BB B () - MM - BES Ol &t o San HmEET
< 822
Al 1,233
01 MEI2BZE+06l= 10,276 9,884 392
O&e EX0|7 W2 10,276,000& 10,276
= 8,221
< 822
Al 1,233
NASHOQ Al L ZAH X (EX) 6,550 6,550 0
= 3,275
= 1,310
Al 1,965
301 LEEAF 6,550 6,550 0
= 3,275
< 1,310
Al 1,965
01 AR 2Z A 353 6,550 6,550 0
OdAsS FHsSE Acd 2 FAH K&
6,550,000 6,550
= 3,275
< 1,310
Al 1,965
ZOoHe ESXJAME 5,100 5,100 0
201 et 5,100 5,100 0
01 At 22l 5,100 5,100 0
O Et=EH| 900
o Bl EsSXNAME F& 900,000& 900
O2gx¢ 4,200
0o BHUBENAME SIAs BH2Y
70,0003 x5 128 4,200
Holed ZUREE HFANE 2N (EX) 800,000 756,000 44,000
< 80,000
Al 720,000
307 21201 A 800,000 756,000 44,000
< 80,000
Al 720,000
10 M2 SXNANEEHES2IHEX 800,000 756,000 44,000
O 2Y HHHREE H=Ad 29H X&
800,000,000& 800,000
< 80,000
Al 720,000
OEEe s4HIE XNA(BEX) 3,000 4,000 A 1,000
= 2,100
= 270
Al 630
301 LeHEBAF 3,000 4,000 A 1,000
= 2,100
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SA: =pi=y
X XH - X (o]
(== B —

(=}
ool &

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
== 270
Al 630
01 MEI2BZE+06l= 3,000 4,000 A 1,000
O&EZe E4HIE XA 3,000,000& 3,000
= 2,100
< 270
Al 630
Hol2d HREE H=A4E 29X (BX) 426,276 401,200 25,076
= 298,393
= 25,577
Al 102,306
307 21201 A 426,276 401,200 25,076
= 298,393
< 25,577
Al 102,306
10 ALSISXAIEEER2IHEX 426,276 401,200 25,076
Hol2d HUHSEE H=A4E 2EHIXA
426,276,000 426,276
= 298,393
< 25,577
Al 102,306
ZOHAEHAH S =cldl XA 7,000 10,000 A 3,000
301 LA F 7,000 10,000 A 3,000
01 AR 2Z A5 3 7,000 10,000 A 3,000
OZHAEMA S =il XA
7,000,000& 7,000
HH 2L ZH(FU=SXD) 40,020 38,820 1,200
Jl2ZHlI(F2=R2) 40,020 38,820 1,200
Jl2ZHl(F2=X1) 40,020 38,820 1,200
202 O4dl 34,800 33,600 1,200
01 = LH 4 Hi 34,800 33,600 1,200
OZE=Z 0 100,000& »29H » 12& 34,800
203 YR =2l 5,220 5,220 0
04 EASIYRFLH| 5,220 5,220 0
O=2=X 435,000& 123 5,220
Hegs(=e=xn) 2,263,707 2,226,602 37,105
UWEAHAXKES(FU=SX ) 2,263,707 2,226,602 37,105
WEAHHX S (FU=SX 1) 2,263,707 2,226,602 37,105
701 JIEtSI HEHES 2,263,707 2,226,602 37,105
01 JIEtZIHEES 2,263,707 2,226,602 37,105
O2=22s S8 d&=2  2,263,707,000& 2,263,707
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